

$$g(n) = f(\tan n + \sqrt{r} \cos n)$$

$$g'(n) = \left(r(1 + \tan^2 n)(\sqrt{r} \cos n) + -\sqrt{r} \sin n (\tan n) \right) f'(\tan n + \sqrt{r} \cos n)$$

$$g\left(\frac{r}{\varepsilon}\right) = \left(r(1 + \tan^2 \frac{r}{\varepsilon})(\sqrt{r} \cos \frac{r}{\varepsilon}) + -\sqrt{r} \sin \frac{r}{\varepsilon} (\tan \frac{r}{\varepsilon}) \right) f'\left(\tan \frac{r}{\varepsilon} + \sqrt{r} \cos \frac{r}{\varepsilon}\right) \Rightarrow r f'(r) \sqrt{r}$$

$$\left| f'(r) \sqrt{\frac{r}{r}} \right|$$

$$f(n) = |e_n - r| \sqrt{a n}$$

$$f\left(\frac{r}{\varepsilon}\right) = \lim_{n \rightarrow \frac{r}{\varepsilon}} \frac{(e_n - r) \sqrt{a n}}{n - \frac{r}{\varepsilon}} \xrightarrow{\text{hop}} \frac{(f) \sqrt{a n} + (e_n - r)(a)}{r \sqrt{a n}}$$

$$f'(n) = f'(n) = r \sqrt{4}$$

$$f\left(\frac{r}{\varepsilon}\right) = \lim_{n \rightarrow \frac{r}{\varepsilon}} \frac{-(e_n - r) \sqrt{a n}}{n - \frac{r}{\varepsilon}} = \frac{-(-\varepsilon) \sqrt{a n} + (-\varepsilon + r)(a)}{r \sqrt{a n}}$$

$$\frac{r \sqrt{a n} + \frac{(-\varepsilon + r) a}{r \sqrt{a n}}}{r \sqrt{a n}} = (-\varepsilon \sqrt{a n}) + \frac{(-\varepsilon + r)(a)}{r \sqrt{a n}} = \frac{\varepsilon}{\sqrt{a n}} = r \sqrt{4} \quad \varepsilon \sqrt{\frac{r a}{\varepsilon}} = \sqrt{4} = \sqrt{r a} = \sqrt{4}$$

$$\boxed{0 < \frac{1}{r}}$$

$$y + a n = r \xrightarrow{n \rightarrow \frac{r}{\varepsilon}} y = r - a n \quad y_{\varepsilon} = r - \varepsilon a$$

$$f(\varepsilon) + f'(\varepsilon) = 1$$

$$r - \varepsilon a + (-a) \leq 1 \quad r - \delta a \leq 1$$

$$f(\varepsilon) = r - \varepsilon a$$

$$- \delta a \leq -1$$

$$f'(\varepsilon) = -a$$

$$\boxed{0 \leq \frac{1}{\delta}}$$

$$\boxed{f(\varepsilon) \leq -\frac{1}{\delta}}$$

$$y_{n+1} = b$$

$$y_{n+1} = \frac{b}{V}$$

-d

$$\frac{a_{n+1}}{r_{n+1}} = \frac{b}{V}$$

$$V a_{n+1} - V r_{n+1} + 14_{n+1} = 0$$

$$r_{n+1} + (14 - V a) + 14_{n+1}$$

$$r_{n+1} (n - r)$$

$$\frac{14 - V a}{r} = -\epsilon$$

$$14 - V a = -14$$

$$-V a = -28$$

$$a = 28$$

$$f(r) = r^{n+1} + a_{n+1} - b$$

$$f'(r) = r^n + a_{n+1} - b$$

$$f'(r) = r^n + a_{n+1} - b$$

$$f'(r) = r^n + a_{n+1} - b$$

-4

$$-14 - (-14) = 0$$

-v

$$f(r) = r^{n+1} + a_{n+1} - b$$

$$f(n) = \frac{\sqrt{n+1}}{\sqrt{n-1}}$$

$$y = \frac{\sqrt{n+1}}{\sqrt{n-1}}$$

$$y\sqrt{n} - y\sqrt{n-1} + 1$$

$$y\sqrt{n} - y\sqrt{n-1} + 1$$

$$\sqrt{n} = \frac{y+1}{y-1}$$

$$f'(n) = \left(\frac{n+1}{n-1}\right)^r$$

$$f' = \left(\frac{n+1}{n-1}\right)^r$$

$$f'(n) = r \left(\frac{n+1}{n-1}\right) \left(\frac{-r}{(n-1)^r}\right) = r(r) \left(-r\right) = -14$$

-n

$$f(n) = (n^r + 1)^r (n+1)$$

$$\frac{f(1) - f(-1)}{1 - (-1)} = \frac{1 - f(-1)}{2} = -11 \quad \begin{matrix} -f(-1) = -12 \\ f(-1) = 12 \end{matrix} \rightarrow (1+1)^r (-a+1) = -12$$

$$\begin{aligned} -12a + 12 &= -12 \\ -12a &= -24 \quad a = \frac{24}{12} \quad \boxed{a = \frac{\Delta}{r}} \end{aligned}$$

$$\frac{f(b) - f(a)}{b - a}$$

-1.

$$f\left(\frac{\pi}{2}\right) = \sin \frac{\pi}{2} \cos \pi = -1$$

$$f\left(\frac{\pi}{2}\right) = \sin \frac{\pi}{2} \cos \frac{\pi}{2} = 0 \quad \frac{-1 - 0}{\frac{\pi}{2} - \frac{\pi}{4}} = \frac{-1}{\frac{\pi}{4}} = -\frac{4}{\pi}$$

$$g(n) = \sin^n n - \cos^n n \Rightarrow \cos^n n$$

$$\frac{g(b) - g(a)}{b - a}$$

$$g\left(\frac{\pi}{2}\right) = \cos \pi = -1$$

$$g\left(\frac{\pi}{4}\right) = \cos \frac{\pi}{4} = \frac{1}{\sqrt{2}}$$

$$\frac{-1 - \frac{1}{\sqrt{2}}}{\frac{\pi}{2} - \frac{\pi}{4}} = \frac{-1 - \frac{1}{\sqrt{2}}}{\frac{\pi}{4}}$$

$$\boxed{\frac{\Delta f}{\Delta g} = \frac{-\frac{1}{\sqrt{2}}}{-\frac{1}{\sqrt{2}}} = 1}$$